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“Please check whether you have got the right question paper.
N.B: l. Questions No.l is compulsory. Attempt any three out of remammg
questions.

2. Assume any suitable data if required, state the same clearly.

L

Figures to the right indicate full marks.
4, Attempt sub-questions in order.
|, Compare any Four : 20
a) Digital Level and Auto Level.
b) Compound Curve and Composite Curve.
¢) Fixed Hair Method and Movable Hair Method.
d)  Transit Theodolite and Digital Theodolite.
e) Block Contouring and Radial Contouring,

2 a) In a tacheometric ﬁhw&yiﬁgthé v.:)bservafiuns were ‘taken with tacheometer 10
having multiplying constant 100 and additive constant 0.5. Calculate the
gradient of Iiné PQ. The staff was held vertita‘r-*duljin g abservations. The RL of
station R is- 41 EOGHJ Sk e il |

Instrnmer;t B H l _' Staﬁ' ﬁ—eﬁrlgg 0 Vﬁﬁi}:_a] Staff readings (m)
Stat’icm‘ {m}"_. Stﬁﬁnn Angle
[C R - | 1.600] 859~ | +4°30"" | 1.000,1.417,1.833
TR ey 1355 | 4°00 | 1.000, 1.657,2313
} “‘*Eefemlmﬁfhe cnnstant of ta '-F\_fj_'bter from the fnllawmg data : 5
». Dlstandt of s"taﬂ" fmm It = * Readings of stadia wires _
vertical axis of

o S VS tacheometerinm _

”“'““_p" > AW PN _r ~ Lower Wire . | Upper Wire

..H‘*ﬁ.&""k, gl > oS 1086 1.383
SNBSSy o 0.924 1.521
) Exp]atq\hﬂw tn'“ca]n:ulate the RL of top of tower whose base is inaccessible, 5

S mﬁmwa elane methmtl
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"3%., :’4? + 1}1%*-" ?ﬂqus mﬁthﬂds of setting out of curves. Explain setting out of curve by 6
oAy -}'_‘__-; ¥ &}Efﬁgt;ffnm éhmd produced method,

DY b) b.._.f};s,cnfba._ﬁanﬂus obstacles in laying out of simple curves. - 8

5 ‘:‘ ’;f'--'?" C} - __ ‘What is vertical curve? Sketch various types of vertical curves. 6
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4, a) Two straights PQ and QR intersect at a chainage of 4096 m and mte:rsectmn 10

angle 150°, It is required to set out 4° simple clrcular ‘cunre Tabulaté Ehe
necessary data to layout the curve with chord mterval of aﬁ m ‘dsmg Eankme s o
method of deflection angle. &
b)  Explain transferring the levels to undergmund fnr settm g out Erf a‘tunnel. - 10
3, a)  Explain in detail how road project was executed in survey ﬁamp‘? y 10
b) A 0.5% rising gradient meets —D ?% du“m gramem The chmnage df.and.,,ﬁL ﬁf 10
intersection points are 550 mﬂm‘i 3’?5‘ m rf:spactwely C&lcuﬁte th RLs. ﬂli the
pcs-mts on the vertical curve us,mg Ghurd gradwnt methﬂd. %;mt@f Ghahge of
6.  Write short notes on (anz.tfimﬁ k_.:' YT O e 20
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